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@{[ﬂ aluév / SCIENCE
( Tamil & English Versions )

Gryh : 2 %m@u‘ﬂ ] - [Qurss wduCuamsst : 100

Time Allowed : 2% Hours | [ Maximum Marks : 100

ugd - 1/ PART -1
(wPQueTo Sl : 20x1—20)/{Marks 20><1—20]

ey /N.B: 1) Sordsl aﬁ\so'rrra‘aes@é:@Cn aSlsmn_u.lmﬂ&,assqm.
Answer all the questions.

i) sflurer NeoLows CaibosdsE! s\'@g&,
Choose and write the correct answer.

1. Gué Gprsd aduyb Qur@Gsr QUBL e LTS DLW TB555 QameiEnd Cnib
a) ug)e'ﬁ@iﬁ &reud b) GuGehm Cryb
c &fimés Cryb : | d) des Ceus.
‘The time taken by a body thrown up to reach maximum height is called its
‘a) - time of flight ; .b) time of ascent

c) time of descent d) velocity.

2. @efitergel QuL_g e Qu.ist‘sru@fn erefldlér ellur@in Siyeud

a)  Oflurer b

c) afedwd _ d I CLrmer.
The volatile liquid used in refrigerator is

a  freon | | .b) water
.€)  helium . d) acetone.
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SiWE3 sawLhaoad 2 eer Brrall Siwdsb STt

a) 3l Zupssid b) 1 euefl Syuss
c) 2 eusll Syésb : d) 1-5eusfl Syésb.
The pressure of steam inside the pressure cocker is about
a) 3 atmospheres b) 1 atmosphere

. ¢) 2 atmospheres d) 1.5 atmospheres.
JETENITT 7 3 S & Hlaqpd.

a) dlyeugdlen Cupryinie

b) dyausder suglugile

J  Ayesder RGNS

d) dlyeusdlett Cuoburiny whHmibd guq.uu_@é]uﬂeﬁ
Evaporation occurs at '

a) the surface of the liquid

b) the bottom of the liquid

¢) the middle of the liquid

d) both at surface and bottom of a liquid.

SlesTeupeussteuppieT sTenal (PSETE BIDRS6T 7

a) fleuly, uéeos LHYID Hevid b) Heuy, dures wHod BHevid
c) e, Hurs wHD GuogedTLT d) eamgr, Sy LHDD LED®S.
Which of the following are primary colours ? '

a) Red, green and blue b) Red, cyan and blue
"¢} Blue, cyan and magenta d) Violet, red and green.
9® ©Slonsdlpe aetug

a) 1000 eurZ b) 500 eurl

c) 746 ecum_ d 647 m.uj'x'_.

One horse power is equal to .

a) 1000 watt b) 500 watt

c) 746 watt . d] 647 watt.

ow&ECYT SPNe@T 2 HuTss 2 sab sHl

a &mellg @l b) LHerafllpsss @pri

c) Goserlgrear v d sl dllens@ser.
Microwaves are produced by

a)  Coolidge tube b) discharge tube

¢} magnetron d) vapour lamps.

6 swyedies pH 6-0 aafler g

a eudlew Vg ubleuid " b euleow Bg smyd

c euslleow Gophe lfleud d) euedeow GeoDHE SMD.
The pH of a solution is 6-0 means, it is a

a) strongacid - ' b) strong base

c) weak acid d} weak base.
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11.

12.

13.

14,

15.

16.
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He sidlswrs GefiTes Qs LWL L BT

a) yGymliey b) &eSTEmITY
c) susd d) ©Qermile.
Which is considered to be supercooled liquid ?

a)  Bromine - b}  Glass

¢}  Gypsum d)  Chlorine.

GerLm gmbUe EreTLg :

Which of the following compunds is called ‘soda ash’ ?
2  NaHCO, b Na,CO;
9 Na,SO, d  NaClL

urflev srhgielst Caudl eurbiim@
Chemical formula of Plaster of Paris is

s (2CasO,).H,0 b) CaSO,.H,O0
¢ CaSO,.2H,0 | d (CaSO,),.2H,0
o Qarshsalar Sraar aar 2opselu@alg
a) susb . b)) Qeueefl
0 Seubaiiud d @®by.
Which is called the ‘King of metals’ ?
a Gold b} Silver
c} Aluminium d)  Iron.
geflsBaiisms Bapsd @bs aflosdé poQupdlng

- a) gl whnid GG Qigwcasar b) efl Qewd vl G
o @mer wHnid el Ceudser d Q@mer Gswe wIGD.
Photosynthesis proceeds in sequence of
a) light and dark reactions b) light reaction alone
c¢) dark and light reactions d) dark reaction alone.
safln aaensd @ram@ UflaserTs AslLESsILLE @ETn QUEBLPSSRSHET
whHOPreTm _ :
a) @eluebwur peshs e b) [T PRSESET
¢}  Smiruest d eoplyges.
Mineral elements are divided into two categories, macro-elements and
a)  essential elements 'b) micro-elements
¢) carbon d} nitrogen.
&C8rrGurCerh o6 LEGSoL GbETR S8 '
a)  @ulyluTsd b) B&eb
) sows) geuub _ ' d) © QL Quuige.
Chromosome lacks a chromosomal segment
a) duplications b) deletions
c) inversions d) translocation.
Setaimpeaiaaibniet ahsl LGS SUTS wrSng ?
a) L6l b) el
c) wLaIHSLIOU d GosLeu.
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1L 7.

18.

19.

20.

S 4

Which of the following parts enlarges and develops into fruit ?

a) Calyx ' b) Corolla

cj Anther d) Ovary.

SiglalLg et LWl sMyeILTS 24dls 2 e 2 L Q&TeiEnd (LoD

a)  uredyflwr b) wuredigrdwr :

¢ wrelGugdur d)  umeSwmiwn.

Excessive appetite leading to increase the intake of food is known as-

al  polyuria b) polydipsia

¢) polyphagia d) polymorphia.

ahed sTaurbsleT Gaur @rsst Ubp Crreows GEIIILESS 2 SRDS ?

a) Gluper g evodCumour - b) - eflerer Crrdlur

C 2 OUTQIITELIT Q)eTTIQHIT - d) el CleflyooiGenTyib.
. The pla.nt root which cures blood cancer is

a) Ferula asafoetida b) Vinca rosea

c) Azadirachta indica d) Ocimum tenuiflorum.

&TLHd SWesssi sSTeoiub UGS

a) Af srhser b) &&&l LGS

¢ &haryeusd d) pedfl wee.

Wild asses are confined to

al Gir forest b) Rann of Kutch

¢ Sunderbans d) Nilgiri hills.

wESL LBBS SLTTLES) @@jmmm eTIRIG 2 6fTengy) 7

a) Giéed b) @&Ger

¢  beu : d eansyrurs.

Where is Central Drug Resca.rch Institute located ?

aj Delhi : b) Lucknow

¢}  Mumbai : d) Hyderabad.

ugd -II / PART - II
(w@Quetsraer : 10 x 1 = 10) / ( Marks : 10x1 10)

eplliy [NB: 1 Soabs éﬁ]esrrr#,a,@é,@in el wefl&aayb.

21.

Answer all the questions

i) eflloLssdt oo OCsrd Sdeg aﬂeu Q&nmam e g
26 axrfifle Qnsss Caiwm®id.
Answer should be in a word or in few words or in one line.

Qa Gume-rﬂ LEL..L_rﬂeo LWESTURD sSsusHer Quuit wrs 2

Name the principle used in Vénturimeter.

22,

o6 A iQurpsilar Ber alflayseb, uew alflageb 2 srer Qgrn.ﬁ'q wre ?
What is ine relation between the co-efficient of volume expansion of a solid and

its co-eflicient of linear expansion ?



23.
24.
25,

26.

27.

28,
29.

30.

31.

Bt geoLWlen e Wirgl 2

What is the unit of electrical resistance ?

6 SEUHOD ( amu. ) ewdldr S bHné wHiy eredreat 7

What is the energy value of 1 amu. ?

298 K Qautiuhlenele Bifler el QuEBHsSST S W) ?
What is the value of ionic product of water at 298 K ?
Speumd Coiglé slasim el urss Qe :

Complete the following chemical equation :

NEE HEOH 5 it B +H,0+CO,

SpsecoL Carohseile 2 erer alloers Qews QsrEdou aRde Wl :
Pick out the functional group from the following compounds : :

a) CH,4COCH,

b C,HZOH

sTeTae 2 oL TéGh ursefluggler Cuwi erdreor ? :
Name the bacterium that causes cholera.

welsr QeCupEs e pIliLssT wreval ?

Which is the reproductive parts of a flower ?
HeNl&ac0eaT eTedIDTEy eresTest ?

What is pisciculture ?

u@g) - I / PART - III
(pHuQuaiaet : 15 x 2 = 30) / (Marks : 15x2=30)

erfluy /N.B: i) srsmeu(.‘?‘u.z@nb 15 erss@nse eloLuelissab.
Answer any fifteen questions.

i) o ercsoraer 32 wHpd 38 ySwaHPDE wrewTa, T et elwi
semgiurs ool wuslés Cauca@d. Gealyaa® alleorT &8 @BHID
amiug Qsflalbe ( Option ) e UL TSl
Students should answer the Question Nos. 32 and 38

compulsorily. These two questions are not included in the
option. - '

QuitrQerenedlesT CabHDEDSHS s@g;]&,., QuirQeTened FwWETUTH HWHE.
State Bernoulli’s theorem and write Bernoulli's equation.
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32.

33.

34.

35.

36.

37.

38.

39.

- 40.

41.

42,

43.

6
150 Symd HeopOaranL. grilysdear Qeuliu Howow 293 K Aeha 295 K aioy
2 wips Caeeaulu@d Qeautiu S bpeller Sjamemeaid sansd(s. (sThlysdlear ser
Qeutin ghusdper 386 J kg -1 K-1.)
How much heat is required to raise the temperature of 150 g of copper from
293 K to 295 K ? ( Specific heat capacity of copper is 386 J kg -1 K-1 .)
uelléensdlear ssgusms alla1ébE:s.
Explain the principle of ice skating.
seoieomy geflfienpdles vusTLT@seT GHIIE.
Mention the applications of optical fibres.
UTTen6U BLIGLIL] eTeTDITE) TedTenr ?
What is called persistence of vision ?
Nererwssse0s ey
Define electric potential.
Hesteumd Sigmibsm aloanile X2 U sn Ye Ll amars brndps
g X2®¥ > Y+ ,He 4 Ya_l'_&:@s).‘ﬂc&r S| 61601, BOD ETETOT WISl ?
In the nuclear reaction given below, a nucleus X changes into another nucleus Y.
e X226 > Y+ , He 4. What are the atomic number and mass number of Y ?
oaplrgest Suaflé Gefley 1 X 108 Guré.efl ! srstsﬂem seoreele o eien

aplyréadle Sualseisr Geflomas sca@iy. _
The hydrogen ion concentration of a solution is 1 X 10~ mol L-!. Find the

hydroxide ion concentration of the solution.

LA 6T eTdodledr LGS QUTBLsemer adll LweTHmen &TYEIS .
Write the composition and uses of tungsten steel.

SDSHTE] ETETDITEY 6TedTenT 2 |

Explain the term ‘concrete’. _

2 Caurad sevemel TIPS raTe ? TRSHEHHTLD &5HS.

What is an alloy ? Give example.

sfilugas sTHRG Spbs @assTd BT LaUeTUOL Gpédlna. et 2
Why does aluminium lose its shine when exposed to air ?

a55Cermuils ,gil.&euﬁﬂsm PSP LTSS Wremey 2

_ State the important uses of ethanoic acid.

44.

Geruyset wHpd sewoeas QurelsaloLCu o der glsamb @Gy
Caupur@aeer er(ysis. |
Write any two differences between soaps and detergents.
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46.

47.

48.
49.
50.
Thot f

52.

53.

54.
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Leoslaome Grass coeugadet LLD aehal UT&EEeTS &0
Draw the diagram of Tobacco Mosaic Virus and mark the parts.
Qe Crmblui Sjewhgisien LSl a{Lq.uuemt_uS\éu'@qu(ﬁmn@&nfamaﬂs&r‘mmamaﬁ _
wremeu ? ' |
Write the different types of chromosomes which are classified based on the
position of the centromere.
WL @urrgﬁ]uﬂu.iéo STETDTE) ETEHT T ?
What is genetic engineering 2
SHTEVEN ETETDITEY eTedTenT ?
What is callus ?
CUTDEHE G DUTSHE GTETDTE ETETEnT 2
What is meant by addiction ?
HesCamenm LILLL L6 2 6fer Geudlly QuUTGL-HelT Wrenea ?
What is the chemical composition of cinchona bark ?

2 Pl GoTsEITES aBBe TETDTE e ?

What is biological accumulation ?
pTHD Do HEEos asgae uUESLILGD 7 el WTeneal ?

How many types are there in transplantation ? What are they ?

ugd$ - IV / PART - IV
(wPuCuesoaer : 8 X5 = 40) / ( Marks : 8><5 40)

ey /INB: 1) gaar® Afafleprad o©opbza el

Sarrésoaurag 0eNaGelg Qursh T alaTsHEHES
ol wefléasa|b.

Answer eight questions by choosing at least two questions
from each Group.

i) Gaoauiupd @Lhseaia LLD aoTs.
Draw diagrams wherever necessary.

Yifley - =4 / GROUP - A

Carermafler @uésd upPlu Qe aNdeaens sl alloTéGs.
State and explain Kepler's laws of planetary motion.
srbgreler ssgieub, Gaime Qelyd lsses aleufl.

Explain the principle and working of a camera.
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55. A.C.Hlerefub) eemler semwlicmuyb, Qeudur oL yb elarés.
Describe the construction and working of an A.C. generator.

560 2AIHEEG Teteallyd, Signise® Goeroanyb luii@s.
Compare the nuclear fission with nuclear fusion.

9fe; - g / GROUP - B

57. el Gaussden S afleau@Our@eilar Qeplaleasr allamearena aleuf.
Explain the effect of concentration of reactants on the rate of reaction.

58. Qe weopullé savcolliyfls Sufleud erebeurp swrflssiL@dng
Describe contact process for the manufacture of sulphuric acid.
59. &psacoieaubni et SFILYs ybled asueury eflesrufldng 2

How does acetic acid react with the following ?
) NaOH ) C,H OH iii) PCl,

Uifley - @) / GROUP - C

60. @q&;gs_&,g‘ﬂs&r. 256586 FapIseT LD HL QT TEs.
Write an essay on the composition of blood.

61. gfer aresTDTE ereTa 2 @)&6T LB HEHESLTS aleuf.
What is a gene ? Explain briefly its function.

62. pes Cedselle LLSTUTHSET WTema 7
What are the various applications of the stem cells.

63. &leybir &rg)é‘la,rﬂuq (PEnD&ET ug)gSI aWa. Qurgssfley &&,gﬁlarﬂuq eoWLD LD[DD_ILD

2iHeT P&FUSIeUD LDH TWES.
Comment on the methods of efﬂuent treatment. Add a note on CETP ( Common

Effluent Treatment Plants ) and its importance.

64. Opev er@LY LHD s
Give an account of cultivation of paddy.




